
Parts list 



 NOITPIRCSED .ON TRAP .ON

1*

81.173.9 DETERGENT J-PUMP , 105 RPM, EPDM TUBING, JG 
FITTING

81.173.10 DETERGENT J-PUMP, 105 RPM, EPDM TUBING, BARB 
FITTING

84.205.1 DETERGENT P-PUMP , 105 RPM, EPDM TUBING, JG 
FITTING

84.205.2 DETERGENT P-PUMP , 105 RPM, EPDM TUBING, BARB 
FITTING

2 80.59.105MK 105 RPM GEAR MOTOR 

3 81.197.1 J-PUMP ENCLOSURE 
84.206.3 P-PUMP ENCLOSURE 

4 81.143.1 J-PUMP ENCLOSURE BACK 
84.195.3 P-PUMP ENCLOSURE BACK 

5 81.324.1 J-PUMP WALL BRACKET 
81.24 P-PUMP WALL BRACKET 

6 84.260.1 CONTROL COVER 
7 81.147.1 KEY PAD 
8 84.250.1 IQ-50 CONTROL BOARD 
9 84.261.1 HIGH VOLTAGE SHIELD 
10 84.206.3 P-PUMP ENCLOSURE 
11 84.265.1 POWER SUPPLY SHIELD 

12 81.350.1 60W POWER SUPPLY (USE WITH J-PUMPS) 
81.361.1 96W POWER SUPPLY (USE WITH P-PUMPS) 

13 84.195.3 P-PUMP ENCLOSURE BACK 
14 81.144.1 DOVE TAIL JOINT 

15*

81.198.14 J-PUMP MODULE COMPLETE W/WALL BRACKET, & EPDM 
TUBES WITH JG FITTINGS 

81.198.15 J-PUMP MODULE COMPLETE W/WALL BRACKET, & EPDM 
TUBES W/ BARB FITTINGS 

81.198.4 J-PUMP MODULE COMPLETE,  EPDM TUBES W/ JG 
FITTINGS

81.198.6 J-PUMP MODULE COMPLETE, EPDM TUBES W/ BARB 
FITTINGS

84.203.14 P-PUMP MODULE COMPLETE W/WALL BRACKET, & 
EPDM TUBES WITH JG FITTINGS 

84.203.15 P-PUMP MODULE COMPLETE W/WALL BRACKET, & 
EPDM TUBES W/ BARB FITTINGS 

84.203.4 P-PUMP MODULE COMPLETE,  EPDM TUBES W/ JG 
FITTINGS

84.203.5 P-PUMP MODULE COMPLETE, EPDM TUBES W/ BARB 
FITTINGS

81.198.7 VALVE MODULE (NO MOUNTING BRACKET) 
16 44.116.2 #8 X 3/8” LONG HI/LO SCREW 
17 81.47.1 ½” HOLE PLUG 
18 81.148.3 CONDUIT FITTING 
19 81.163.1 POWER SWITCH 
20 84.176.3 STRAIN RELIEF 
21 41.40.2 #6 X 32 SCREW 
22 81.20.2 #4 X 3/8 HI/LO SCREW 
23 81.20.3 #4 X 1/2 HI/LO SCREW 
24 81.183.5 STRAIN RELIEF 
25 84.254.1 CABLE, PROGRAM COPY (OPTIONAL) 
26 84.255.1 CABLE, EXTENTION PROGRAM COPY (OPTIONAL) 
27 84.65.53 V-LINE FORMULA SELECTION REMOTE KIT 

* There are more options available that have different squeeze tube materials.  Please call for 
more options. 


	V-line parts 1
	V-Line parts 2

